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Phys101 - Sec # 26 Quiz # 2 (Chapter 3)
Name: \Kg ID #

1- The two vectors A and B shown in Fig. 1 have equal magnitudes of 10.0 m. Write the resultant vector, R, of these vectors in unit
vector notation, find its magnitude and the angle theta it makes with the positive x-axis.
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2- Consider two vectors A and ﬁ with magnitudes 5 cm and 8 cm, respectively. Vector ;& is along the positive x-axis and vector ﬁ
is along the positive y-axis. Find A. ( A+B )
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3- Three vectors F, V" and B are related through F = 5.0 (v"xB ) .ffvector v =3.0 iA—S.Of and B =-2.0%

Write the vector F in unit vector notation. I
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